EARAROBREBRT —5 XN—ZXBISH—F 202418248 (K) 16mAH4H

%ﬁ HYS5R4mLOP EEENEE IR
[AXE%) 1 & :22,000,000 1  23#&:7,700,000 M 3 3&:4,400,000 9 4 3% :2,200,000 9 5 3% :1,100,000 M
B RS FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
=~ EN-EZN :52. -2-1- . - INRIRE (GRFD)
118l15| 5vUamH— o6 x 2(5_2)9 2-2-1-1 | 41.5 3 (4+611) P
RiNA40O B:IT7ESRIAL RFHHBUZ
2|5 8| EAAXTAIRUZR # 6 | SREA (;5,33) 6-6-1-2 | 41.5| — | 1 (5+363) gsaﬁgm_ﬁ (K3
RINVIATawIVAUT— BROE—T Gl e
= 3 5 | RAHERA 2:53.4 5-5-3-3 | 41.6| — 4 515 | ZRNETE (KH)
38|14 SVFTTD 56.0 @172 “1 AT
KR40 B:VILITRUR e
H o5 | fEEEIIE 2:53.8 7-7-6-4 | 41.8| — 6 | 486 |/ARE CGERD)
417/13| A 57.0 @ ) | Bl
Ribh—tYISAK B:b—trvIz—IL BRESH IRTAT7—L
s —n o7 | KBEZ 2:53.9 10-10-9-7 | 41.1| — 8 | 473 |BEEL (W)
5 7{12| FAN=Y 5.0 2 L | KEERE
Ri9AINITIFY BN—-ZUTF3T Ak BiE
¥ = s 7 | BIR 2:54.7 8-8-5-5 |42.7| — 5 531 | BREMEE (KH)
JIITvIR 56.0 @ @) | @ Inov—vyo
RiIVvRIVTA B:Y—AXbDYaY /=Y Tr—I
> : -3-8- - ERAR (i
FIUIVZILTL £ 6 &?g%ﬁ (21514/4?) 3-3-8-8 | 42.1 2 (4_63 %ﬁfﬁ;\ (78#0)
Rib—trya—sy BI-IyUFIOF— RERIS
= » t 4 | EEX 2:55.7 1-1-4-6 [ 43.7| - 9 493 | /NAIRE (AR
NTUZILA=I ! 52.0 @ 15 |HimRockRacingHD (#
R:AN/VwF— B:ANVAY—T ®l B
~,~, L0 < BEOF— : -14-12- - REIEE (KH)
TAYVERRY o6 5_0 2.(515).9 14-14-12-10| 42.3 11 :1_527) e
RII—V VA= — B IAYVI1F SIERS
= ballssE 156. -12-13- . - SR (KH)
ARERKSUS 4% 5 e 2 (5263 3 12-12-13-13| 42.5 12 (5+138) g sl
RiO—IRAA XA B:ORAEU-TFUVT EvIUy RI7—LA
S~ A s 7 | BIHEHR 2:56.3 15-15-10-12| 42.9 | — 7 477 | BHBESE (i)
SV 56.0 s 7) | K=BH—
R:TFAIWNIPFH— B:AT—RZAb—L EER Y R
~,5 9 | GlEsE 2:56.5 11-11-10-11| 43.1| - 13 | 448 | LSRR (AGtE)
rN—t> I it 5.0 ) O |BimEE
Rib—tYITSA~ B:bh—tYISvF BRE|M IRF«4T77—L
v v 8 | LWiEHELT 2:56.7 9-9-7-9 | 44.1| - 10 504 | BREONES (KH)
I—=2h 54.0 (1 1/4) (3 | B
RIN=VISA B:AY«HS /=YY Tr—L
N P BEAIRE :58. -13-14- . - EER (KH)
ARAX I RIL 'y 7 Ba 2 (56% 0 13-13-14-14| 43.9 15 ztiz) Bk
R:O—XFVI9L B:J-0F v 7Y eRs
st 7 | BYIER 3:08.0 4-4-15-15 | 51.1| — 14 511 | BARS (V)
15011 | 7Y D 5.0 (94 1) o |FEE—
RiW—=>5—=vvF B:RvF7«4aY F—U— - Iv/\Y - T7—LBRR
@ 1—F—&RIEL
13—7— 6,15,11,1,14,8,13,10,2,12,3,7,4,9,5
20— — 6,15,11,1,14,8,13,10,2,12,3,7,4,9,5
30—7— (8,15) ,14,6,10,13,2,11,12,(3,5) ,9,7,4,1
AT=5r= 15,8,14,13,10,6,12,11,2,9,3,5,7,4,1
0 ILR=E
BB 15 540M4 JA R 8-15 3504 e B 5-8 3904 3EE 8-14-15 1,440/
B B 15 210 14-15 790M (=1 8-5 1,210 3EH 15-8-14 6,470M
8 120/ 8-14 430/ Fs E 8-15 560
14 240 =51 15-8 1,280

ABIC OV TRUTEREERRODDZE. THRIIZEL.



